HERA | |58 | | [Eska SJIEERD
wop| wle |lwe | |wmwlewls lwe | |suleslss |sse o] alpra ps
1| 8= |gex | | 1| 8= |lg=x | | 1 17 mm= 1| 4|7 |=m=
of T e | | 2 17T |lmme | | 2 im |2 2| 4&®m |=mw
3| o [ | | 3| iz |mms | | 8| 2z |zmm 3l sl |mm@m
4 1w |m= | | 4] dz |mwme | | 4] im [emm ARG ESE
5| sl® |ErE | | s| 2w |mer | | s| 3m |xEs 5| 4l |men
of 1@ [zas | | 6 2T |@ms®E | | & 2m |wxs ol 4l |z=wE
71 2z |l=mE | | 7| 2z |mmm | | 7 22 |=mem 7| 4w |mmm
8| olm [EnE | | 8 slz |7 sl 1l |[mms 8| 4alm |Emm
of o= [Ewm | | o sl |ErE of 1|z |z=mE of sl® |EBE
10 3= |z | | 10 o|® |=E® 10| 2|2 |muE 10 s5|® [Esges
1| 22 |2gr | | 1| 2|7 |m==s 1| 3w |Em 11| 4T |Ems
12| 1|7 [EeE | | 12| 4 |&F 12| 2| |mEE 12| s|® |mmx
13 sl® |E@m | | 18] 1T |2m= 13 3l |[=E® 13 sz |[mEm
14| 17T |7 | | 14 2|7 |mE= 14| 12 |mwmE 14| 5|2 |wES
15| 2|7 [Eam | | 18] 22 |FTm=x 15| 22 |mE® 15| 42 |mme
= (5 B
16 HERB{ER 16 16| 4|2 |FIEE
17 16| 2| |#Ehs 17 17 588 [REA
18| 3|z [BEE 17l 1T |BFm 18| alx  |mEMY 18| slm  |mEm
19| 2|® |=mm 18] 2|7 [Esm 19| slm |mE® 19| 4|z |zms
20 1T [meee 19| 3|z |ms=2 20| sz |zm= 20 1|z |mmm
21| 1le |Eme 20| 3= |[BzE 21| 3T [Emsz 21 1T |=m=
22 2% (=B 21| 2| |EER 22 1|7 |MOX 22|  4lxE [BE
23| 3|z |BRE 22| 4|z |xz@E0w® 5% Tam
24| 1lm |mz=m 23| 1T |
24| 2\ |=mm
25 1l |BEREF
Pl Bia Bl Eib A [lfth
wa| ale s A ik || pEaR |1 ol =l mr s
1| e |[Tm= 1w |2 |z== N EEE 1| 3z |[BzE
o 1T |FmE B EHEEL NEHENEET: AEEENEE
sl |® |mm 3l 1|7 [B7e | 42 |zE= 3l e |Tam
R T 4 3z [m=a o 4 |mm ENEE
5| o2 |EEs 5| 1)@ |zmE s| 3z |=zm
o] 3|m |gwz olen | |Emin o] sz |[EE@
71 1m [mre 71 1m [mas 7| 4 |mEm
8| 4lm |mEwm sl 1|® |mam
9| 1A |BEEH% 9 1 [B
10| 3\m  |mmn
11 3|x [UEE
12| 2z |ex
13| 4|2 [#HEEE




HAEA HAED FERHA $EEAB
wup| @l |ws wup|Eale (s s | e |mran (s o e |pray |4
1| 1|7 |mee 1| 5|7 [mE® 1| 1w |Eam R CEEE
2| 2|m |mwm 2| 3|z |gex o| sl® |mmm 2| 3@ |=mm |
3| 2|lm |mmwm 3| alm |mmz 3| 2|z |#eRw 3| 4m |mmR |
4 2lm |ereE AR ENEE: 4 2z |xmm ABECEEEE
s| 2|7 |mmE SBECEET s| 4l |mmz SR EEE
o| 1|z |mmm o] 4z |Bx® ol 2| |mmz o| 1m |mre |
71 1z |mem 71 2|z |werem | slm (= | 2lz |=mm |
8| 2|7 |==w 8| 4lm |[mmm 8| 2|1 [mmE s| 2z |sxe |
of 2ln |[Fp=z of 4z |Fe= of 2z |uem of 1T |=s:i
0] 2|7 |mmz 0] 4lm |mme 0] 4m |[=xw 0] 2l [mms
1| 1z |mEm 11| 5|z [sm 1|l 2|7 |mmz ul 1P |smss
| 1P |FEm= | 4m |Em 12| 5|z [mEmE | 1lm [Ezz
13 o2 |Fa=x 13 3k [Em 13| 4l |EWY 13| 3lm |mEE
14| 2|F [=ER 14| 5|/% |#TFhE 14| 1|A  |BLEK 14 21T |EEmZE
15| 1T |pme 15 L EE R 15| 1T |=r=
=i =i 16| 5|z |mms 16| sl |z
16 16 17] 4| |#=R 17 1|8 |ZES
17| 2z |E== 17| 2|z |me® 18| 5|® |z=wEm 18] 1T |mzE
18] 1|® [ 18] 2|2 |mEmrm 19| 2|® [ 1o 2|l®m |mam
19| 1T |mE= 190 2|z |@xm 20l 1w [=mm 20 2z |mEE
20| 1|® |=EE 200 1| |Fn=E (B4 i
211 2| [EER 21 21
22 22 2|2 =10
23| 1|z |mzz 23| 4z |mw= |
ol oz |wEiE 24 2T |wEg |
T
1T =g



PIEHKC JIEERd BEERA Bk
Gmok | AEAR|BEAR [#:44 mot | SRAR (PR (14 dR AR DAk |4 Gmat | FEAR|PEER |HEF4
1 2R |EE= 1 5|2 [(EE#H 1 4% |%&ET 1| 5% |HEE
2| 2|R |BiEiE 2l 4T ==& 2 5|2, |EBtAE) 2| 4|8 |EEBH
3| 2|R |=XREE 3] 5|7 [#EE 3 5|7 |BREEN 3| 5|2 |EBHAE)
4 2|k |MFEHR 4 4|2 |BRIEE 4 5| | EI5ER 4 5|7 [®EH
51 2|2 |E=EMIE 5|  4|/% |%BaET 5 AT |EHBAE 5| 4|2 [BRE
6] 1% |REE 6] 4|/% |[HEm 6 5|8 | @i 6] 52 |Hikx
71 1R |BEXR 71 4R |ERERE 7 5|k |#EE® 71 3|2 |3BFFFE
8] 2|2 |BREX 8| 4|2 |EESE 8 488 | EEA 8| 4|X (B
9] 2[R |FBRE 9 4|/% |[Zsxi& 9 42 |HARIE 9] 4|E |REE
10 2|R |BX%H 10| 5|2 |E8HEE) 10 512 |Bibix 10| 3|2 |3BEE
11| 3|2 |EEE 11| 5% [EX1E 11 3|12 |75 11| 5|F |REE
12| 2|2 |ME®S 12| 4| [HER 12 5|12 |BRER 12| 4(F |BRIEFD
13| 3| |[FZx= 13| 5|8 |=ER 13 <] DA I 13| 3% |#ER
14 11T |FRmE 14 5| |REIAE 14 5|2 |tREMm 14| 5|% |BEAWR
15|  3|K |FER 15| 5|8 [EBK 15 5|R |E/EE 15| 5|2 |HEH
(5 (5 16 4|58 |*2ElE 16| 4|1% |5k
16 112 |[MIEH 16| 4|= |88 17 48 |REE 17| 5| | Kmith
17 IR |[EFE 17 4| |iffaH 18 4F  [=EE 18]  4|F  |F=EH
18| 3% [F#E 18| 4|7 [MEMY EZLKB 19 4|F |2ER
19| 3|7 [E= 19| 4l |®EE | |1En | aalviw g BEPkd
20 5|2 mE 20| 4|2 |BUHEEB 1 AlIX  |%BEr o | EAR| PEAR |4k
| 21| 3= [EmEE 21 4|7 |=E20E 2 5|I% |#ER 1| 5|k |#HER
5% I@EE 22| 5|2 |PEH 5 48 | EEH 2| 4|8 |EFBH
23|  2|Z | MRBRER 6 4 |RER 3] 5|2 |BXR=
24|  2|R |ZEXEB 7 5|12 |BXRE 4 5|7 [#mFEE
251 1|7 |=ERE 8 5| |miTit 5] 3|2 |HBEE
26| 1|7 |iRrEeE 9 5|R |E/EE 6] 4P |REE
4% fpE 10 5|1 |RFH 7| 3|E |MEBH
TE [F]a 12 BREEF 8| 3|2 |[ERmE
T s iR e By il &rF-f5a
1 3|2 |3®E &R SEAR| DAl |4 o | EAR| PEAR |4k
2| 2|R |E=EXEB 1 2| |RHEE | 4= |EHE
3| 2|k |MEFER 2 NN | FER 2| 4E [MBF
40 1K |=RERE 3 12 |[BHE 3 4|k [FEF
5] 3|2 |FEE 4 42 |ZFH 41 1T =i
6| 3R |=FE 5 5|2 |BER
7 5% TEE &T15b
T | AR PSR [
1| 4| [EHE
TE[Alb 2| 4B |EBE
SR | SEAR| BEAR | #E%
A EZN G
A% |45
4= |1REZE
5| |MFEE




